Tuesday, 14th April 2020
ENG8: Present Perfect

Workbook 113/30:
2. A tree has crashed onto a lorry.
3. The winds have smashed the windows.
4. The hurricane has blown the trees over. 
5. The waves have thrown the boats onto the rocks. 
6. The wind has blown a car onto the beach.

Workbook 115/32: (predlog rešitve)
2 written / opened / read / answered
3 eaten (up)
4 opened / cleaned / broken / closed
5 scored
6 lost / put on 
7 done
8 prepared / performed 
9 visited
10 eaten / had
11 hurt / broken 
12 stopped / started 
13 had
14 bought
15 taken

Workbook 115/33a, b:
6 She is in pain. 
2 He looks frightened. 
5 She is crying with joy. 
1 They look worried. 
3 He feels sick. 
4 They look very happy. 

1 She’s in pain because she’s broken her leg.
2 He looks frightened because he’s seen a ghost.
3 She’s crying with joy because she’s won a gold medal.
4 They look worried because their son hasn’t come home yet.
5 He feels sick because he’s eaten too much dinner.
6 They look very happy because they’ve won in a lottery.

[bookmark: _GoBack]Workbook 116/34: 
2 He’s been to the newsagent’s.
3 They’ve been to the butcher’s.
4 They’ve been to the chemist’s.
5 She’s been to the grocer’s.
6 He’s been to the greengrocer’s.
